
1) (1 x 23) + (8 x 69)

Answer: ____________

2) Solve 19j2 - 11j - 15 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

3)
18

Volume of Cone
15

Answer: ____________

4) Increase 10 by 50%

Answer: ____________

5) 'What is the probability of rolling a 
multiple of 5.when rolling a dice

Answer: ____________

6) (3 x 46) x (1 x 38)

Answer: ____________

7) Increase 102 by 1/34

Answer: ____________

8)
81

6 /12

Answer: ____________

9) Decrease 66 by 4/33

Answer: ____________

10) Round 20.95497883 to 7 decimal 
places.

Answer: ____________

11) Round 20.95497883 to 7 decimal 
places.

Answer: ____________

12) Round 12.293579 to 5 significant 
figures.

Answer: ____________

13) Round 12.293579 to 5 significant 
figures.

Answer: ____________

14) Find area of square 
having each side (s)
equals 37 cm

Answer: ____________

15) 1/3 x 5/6

Answer: ____________
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16) 47/8 ÷ 11/2

Answer: ____________

17) Round 4.1244 to the nearest 10000

Answer: ____________

18) 260 ÷ 20

Answer: ____________

19) Find the median of the following set of data:

12, 38, 33, 5, 28, 18, 6

Answer: ____________

20) Convert the following fraction into a 
mixed number: 16/6

Answer: ____________

Total: ___ / 20
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Answers:

1) 80621576 2) j = 1.2 or -0.6 3) 4241.1500823462 4) 15 5) 1/6 6) 80621568 7) 105

8) 9 9) 58 10) 20.9549788 11) 20.9549788 12) 12.294 13) 12.294 14) 1369cm

15) 5/18 16) 31/4 17) 4.1244 18) 13 19) 5 20) 22/3
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